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# L5 ct0lEHelE JItHSLICH

import tensorflow as tf

from tensorflow import keras

from tensorflow.keras.preprocessing import image
import numpy as np

from tensorflow.keras.applications.resnet50 import preprocess_input, decode pred
from keras.applications.imagenet_utils import preprocess_input

# O|0IXNE 2E0ot) dHelote &=
def preprocess_image(image_path):
img = image.load_img(image_path, target size=(224, 224))



In [5]:

In [6]:

In [7]:

Out[7]:

img = image.img_to_array(img) # O|0IXKIE gz Het

img = np.expand_dims(img, axis=0) # 2 & 0| J|Uct= SEHZ 2H=CH. (1,224, 22
img = preprocess_input(img) # O|0IXl CIOIHE 20 Z&s ez &K
return img

# Ol0IAI A QAlS +=dd5t= &=
def predict_objects(image_path):
# MEON =HE Resvetso 22= = SLICH
model = keras.applications.resnet50.ResNet50(weights="imagenet")

# Ol0IXIE &Xcl&LIC.
img = preprocess_image(image_path)

# O|0IXNIE 240 2ot == =Ll L.
preds = model.predict(img)

# s ZUE &L
decoded_preds = decode_predictions(preds, top=3)[0]

# 0lF 2UE SHELIT.

for _, label, confidence in decoded_preds:
print(f"{label}: {confidence * 100}%")

from IPython.display import Image

# O0|0IK Y B=2E XNELULCH
image_path = 'Dog_rawPixel@l.jpg'

# Ol0IXI HAl
Image(image_path)




# Ol0IXl 22X elalsS =g L|C.
predict_objects(image_path)

Downloading data from https://storage.googleapis.com/tensorflow/keras-application
s/resnet/resnet50 weights_tf_dim_ordering_tf_kernels.h5

102967424/102967424 1s Qus/step

1/1 2s 2s/step

Downloading data from https://storage.googleapis.com/download.tensorflow.org/dat
a/imagenet_class_index.json

35363/35363 @s Ous/step

standard_poodle: 93.5053288936615%

miniature_poodle: 4.46309819817543%

golden_retriever: 0.6950932554900646%

Z 1t
o AEHCIE FEE:935053288936615%
o O|L|O{N FE5: 4.46309819817543%
e ZE P|E2|H: 0.6950932554900646%

# Ol0IA It HZE XNELICH
image_path = 'life_unsplash.jpeg'’

# Ol0I Xl H Al
Image(image_path)
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In [10]:

In [11]:

# O|DIX 24T QAlS 2sSLICH
predict_objects(image_path)

1/1 2s 2s/step
mosquito_net: 32.021260261535645%
crib: 20.114001631736755%

quilt: 18.42556595802307%

e Z1}
e 1 7|% 32.021260261535645%

e O}7| XICH: 20.114001631736755%
e 0|2 18.42556595802307%

# OI0IAl Y Z22E X EELIC
image_path = 'Deer_un.jpeg’

# Ol0IXI HAl
Image(image_path)



# O|0IKI 28X QAS ==&srLIC.
predict_objects(image_path)

1/1 [==============================] - 1s 1s/step
ibex: 57.7500581741333%

impala: 12.893131375312805%

gazelle: 10.757070779800415%

Ol A (Ibex): OlTAE &tF X0 MAGH=E
O, Ot=Ze2Iot XI90A AL 2 23 S
O, =2 SHOILI 250N 2L,

g Zct(Impala): &Zct= OtZelIt HEUAM MAIGH=
FZ AMHILISE = NS0A 2ASLO. 2 st @8
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